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%HUGDVDUNDQ�SHPEDKDVDQ�PHQJHQDL�DQDOLVLV�SHUDQFDQJDQ�GHVDLQ�MDULQJDQ�)LEHU�

WR� 7KH� +RPH GL� 3HUXPDKDQ� %XPL� .DOLRUL� 3HUPDL� %DQ\XPDV�� PDND� GLSHUROHK�

NHVLPSXODQ�VHEDJDL�EHULNXW�

�� 3HUDQFDQJDQ� GHVDLQ� LQL� GL� ODNXNDQ� GDUL� VHQWUDO� 2/7� \DQJ� WHUOHWDN� SDGD� 672�

-DODQ� 5D\D� 6RNDUDMD� PHQXMX� 2'&� GHQJDQ� NDEHO� IHHGHU VHMDXK� ����� NP� GDQ�

GLODQMXWNDQ� ODJL� PHQXMX� 2'3� VDPSDL� GHQJDQ� 217� GHQJDQ� NDEHO� GLVWULEXVL�

GHQJDQ� MDUDN� ����� NP� MXPODK�217� ���� XQWXN� MXPODK� SHODQJJDQ� GDQ� MXPODK�

2'3����

�� %HUGDVDUNDQ�KDVLO�VLPXODVL�GDQ�KDVLO�SHUKLWXQJDQ�PDQXDO�WHUVHEXW�PHQJKDVLONDQ�

KDVLO� \DQJ� VXGDK� VHVXDL�GHQJDQ� VWDQGDU� ,78�7�*�����NXDOLWDV� MDULQJDQ�)77+�

VXGDK� EDLN� KDVLO SHUKLWXQJDQ SRZHU� OLQN� EXGJHW \DLWX� ������ G% XQWXN� KDVLO�

VLPXODVL� ���� G%P�� 3DGD� GD\D� 7[� GDODP� SHUKLWXQJDQ� \DLWX� �� G%P� SDGD� KDVLO�

230 �2SWLFDO�3RZHU�0HWHU� ������G%P�KDVLO�SHQJXNXUDQ�SDGD�SHUDQJNDW�2'&�

SDGD� SHUKLWXQJDQ� KDVLOQ\D� ����� G% SDGD� VLPXODVL� �������� G%P�� +DVLO� SDGD�

SHUDQJNDW�2'3�GDODP�SHUKLWXQJDQ� \DLWX������� G% SDGD�KDVLO� VLPXODVL�\DLWX� �

�������G%P�VHOLVLK�SDGD�PDVLQJ�PDVLQJ�SHUDQJNDW�\DLWX�PHQFDSDL���G%�

�� +DVLO� SHUIRUPDVL� GHVDLQ� XQWXN QLODL %(5 \DLWX ������� î ����� GDQ�4� IDFWRU

������� QLODL� WHUVHEXW� GL� DPELO� GDUL� QLODL� \DQJ� WHUEHVDU� SDGD� ��� WLWLN� KDVLOQ\D�

VXGDK� PHPHQXKL� VWDQGDU� XQWXN� QLODL� %(5 \DLWX QLODL� ���� GDQ� XQWXN� QLODL�4�

IDFWRU MXJD�VXGDK�PHPHQXKL�VWDQGDU \DLWX�QLODL���
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3HQHOLWLDQ� VHODQMXWQ\D� GLKDUDSNDQ� XQWXN�PHPEDQGLQJNDQ� GHQJDQ� YDULDQ� GD\D�

GDQ SHPEDUXDQ� SHUDQJNDW� DNWLI�� NDUHQD� EHUMDODQ\D� ZDNWX� SHUXPDKDQ� WHUVHEXW�

DNDQ�EHUWDPEDK�XQWXN MXPODK�XQLW�UXPDK�SDGD�SHUXPDKDQ�WHUVHEXW�


